521A

|l

Ay 4B sla
VEoF/lYe

A b, - g &, " 1 .
J Jj{]rwqtq;lju(d’wbt/ (el allina) ¢ ipyy wlinn plin

@
2

Oy ald JLid wb cale Jiluo disn 30

Oby 1 paxio 3gSuS dnis (390 3T

Jol <9

(ol U boliie 0 339) 251 S b)) o 3T 09

4RSS 140 1 g iy e

nJL...‘.‘.uLT aJl....f.n J"|

J,..l s t.silbl.'..ll J',‘ '-a-LJJ

¥ == oL |

[ ‘f’f ﬁl-b %a;l—J,l ":“'.’35 ]

s jlo Ol fdilo jl soliiul

.JJ'J u.ii.a BJ.IU- lo"ji og'

al;u;_:‘smmm:abﬂh.al
AP (i daen I Cend el
FUTIETIWE SR PE PRI VYL ST

aly u;....-p.s..\p.xm:,nl‘.f

BT PUOWE SN VE PR PR OWE R VP PE FEANC 51}

FYP IS DONE S PE PR PR UWE S AVIP PE PEELE | PP
S L D




Y aond 521A el — (o)l sl 0g,F

el eyl did> s Ll joas s Ae 4y Jgds Sl jaze (o Ladl g Slasete 5 pae (o 5 Cdbgls =

5 Lo U1y 395 Juco 5yled 009 Ly (JolS AT b oo, P17 K31 PO-") PR | © 57

59y y oudd Zy0 J,5 S g £ai OV dus A3 5380 g doliduwly (Vb > 45 39,9 D15 (YU 40 Zyuie (albgls
P PCAPIRRY ERLAYI WD BT Y

Part A: Grammar

Directions: Questions 1-15 are incomplete sentences. Beneath each sentence, you will see

four options (1), (2), (3), and (4). Choose the option that best completes the sentence. Then
mark the correct choice on your answer sheet.

The project’s milestones, .........cccceecueeen meticulous planning and collaboration,
demonstrate our team’s capability.
1) which derives from  2) deriving from 3) from deriving 4) that derive from

The consultant warned them ..................... the potential risks associated with the new
investment strategy.

1) to not overlook 2) not overlooking 3) not to overlook 4) to not overlooking
Ethical guidelines should be followed diligently, .......cccccvneeeen. breaches damage the
organization’s reputation and public trust.

1) as if 2) lest 3) otherwise 4)soasto
The financial models were scrutinized by the auditors ..................... we collaborated to
ensure full compliance with industry standards.

1) with whom 2) to those 3) with them 4) by whom
Were it not for the unforeseen shifts in consumer behavior, our market analysis
..................... more accurate forecasts.

1) had yielded 2) might be yielded 3) could have yielded 4) would yield
Although the proposal has been approved and initial steps have been taken, additional
FESOUICES .eeeverennsansacnanes unexpected challenges were to emerge during the execution
phase.

1) needs allocating if 2) would be allocated if

3) would be allocated to 4) are needed to allocate that

Real Madrid F.C. denied ..................... any illegal financial transactions, affirming that
their financial dealings were fully compliant with financial fair play rules.

1) to having made 2) being made 3) to make 4) making
The initial results were below expectations, ..................... the revised strategy led to
significant improvements in performance.

1) nevertheless 2) even though 3) so that 4) as though
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To ensure that their findings are thoroughly validated, the advisory committee demanded

that the research team ..................... a detailed analysis of potential impacts.

1) have provided 2) be provided 3) who had provided  4) provide
We are looking for candidates ..................... skills align with the requirements of the
position to ensure a good fit for our team.

1) which their 2) that its 3) whose 4) their

The finance department meticulously prepared the annual budget and presented it to the
BOANE, . ousivismvinsivsinine the operations team.

1) just as 2) did so 3) as did 4) having done
The case study investigates the implementation of new operational protocols and evaluates
..................... and productivity across various departments.
1) what efficiently can these protocols enhance 2) how these protocols can enhance efficiently
3) whether can these protocols enhance efficiency 4) how these protocols can enhance efficiency
The management wishes the financial projections ..................... earlier to reflect the
market changes more accurately.

1) had been revised 2) had revised 3) would be revised 4) have been revised
The training program is robust enough ........cccccevveeee. to tackle advanced technical
challenges.

1) which equips employees via the skills needed

2) to equip employees by the skills which are needed

3) equipping employees with the needed skills

4) to equip employees with the skills needed
Only after receiving the final approval from the board .......c.ccccoveeeeee with the
implementation of the new policy.

1) did we proceed 2) we had proceeded  3) we proceeded 4) had we proceeded
Part B: Vocabulary

Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see

four words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best
completes the sentence. Then mark the correct choice on your answer sheet.

I would like to congratulate you .........cccoeueuenss successfully completing your doctoral
thesis with outstanding research and insightful findings.

1) for 2)in 3)on 4) at
When asked about the missed deadline, the project manager ..................... an excuse
about unexpected technical difficulties.

1) set 2) made 3) took 4) got
The lack of funding proved to be a major ...........cceaueeees to the progress of the research
project.

1) hindrance 2) deficiency 3) expedition 4) interval
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After the revolution, the record industry was socialized on August 20, 1919. Information on

the history of Soviet record industry is unfortunately ............cccceuuuuee i

1) scarce 2) obvious 3) vestigial 4) unruly
Given the intricate nature of the financial model and potential impact on our stakeholders,
the analysts must ........c.ccevevennen more carefully.

1) exceed 2) postpone 3) proceed 4) memorize
The Iranian constitution reflects the...................... blend of Islamic principles and modern
governance.

1) concurrent 2) tangible 3) unique 4) durable
During the family reunion, the grandfather took on the role of storyteller and used his
engaging tales to ........cccevneeen. the children and strengthen family bonds.

1) spoil 2) endorse 3) punish 4) amuse
The government provides ..........ccccaianens to farmers to encourage sustainable agricultural
practices and ensure food security for the population.

1) aromas 2) associations 3) vicinities 4) subsidies
During the yoga class, the instructor emphasized the importance of maintaining a proper
..................... to prevent injuries and improve alignment.

1) insight 2) harmony 3) scandal 4) posture

By contrast, the Renaissance Englishman had known of the East almost .....................
through travel books written by men unfamiliar with the languages of the countries the
visited.

1) significantly 2) exclusively 3) previously 4) hastily
The defendant sought to ..............ccee.e their innocence in the breach of contract case
through providing documentary evidence of their compliance with the terms outlined in the
agreement.

1) resort 2) speculate 3) aver 4) rattle

Despite numerous warnings and reminders, the employee continued to .....................
company policy by accessing restricted websites during work hours.

1) violate 2) reduce 3) coerce 4) accompany
The breakup was as ................... as a stormy night, leaving their hearts shattered and their
dreams in ruins.

1) anxious 2) smooth 3) dynamic 4) dismal
The new regulations on emissions might ................... some companies' goose if they do not
comply with the standards.

1) manage 2) carry 3) make 4) cook
If you want to succeed in business, it is important to be ................... and professional in
your interactions with clients and colleagues.

1) courteous 2) simultaneous 3) peculiar 4) eligible

In Islamic law, the act of giving to charity must be done of one's own ..................... and
not under duress.

1) destiny 2) indisposition 3) accord 4) hostility
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Special operations forces are trained to .................. at the heart of enemy operations with
precision and stealth.
1) hinder 2) strike 3) collapse 4) emit

In clinical practice, it’s essential to educate patients that the sedative properties of the
medication might take some time to ..................., often varying with individual metabolic
rates.

1) kick in 2) iron out 3) flesh out 4) touch on
The client chose to renew the contract after hearing the ..................... reasons for the
proposed changes, which promised greater efficiency and cost savings.

1) cogent 2) gruesome 3) absurd 4) evanescent

Since losing his job, he has become a ..... vesssscenssennny avoiding social interactions and
shutting himself off from the outside world.

1) felon 2) dearth 3) regicide 4) recluse
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Part C: Sentence Structure

1) The department that had deprived from adequate funding was forced to reduce whose scope
of operations, which it leads to a significant decline in productivity.

2) The department that had been deprived of adequate funding was forced to reduce its scope
of operations, leading to a significant decline in productivity.

3) The department had been deprived from adequate funding was forced to reduce its scope of
operations, leading in a significant decline on productivity.

4) The department that had been deprived of adequate funding was forced to reduced its scope
of operations, that led to a significant decline on productivity.

1) Despite the initial proposal lacked detailed financial projections, but the committee approved
it, in order that a comprehensive budget plan was submitted within the two next weeks.

2) Although the initial proposal lacked detailed financial projections, but the committee
approved it, so that a comprehensive budget plan was submitted within the next two weeks.

3) Despite of the initial proposal lacked detailed financial projections, the committee approved
it, provided that a comprehensive budget plan was submitted within the two next weeks.

4) Even though the initial proposal lacked detailed financial projections, the committee approved
it, provided that a comprehensive budget plan was submitted within the next two weeks.

1) Their Pythagorean Expectation suggest their record being closer to 10-4, While the Knicks
have an 8-6 record.

2) While the Knicks have an 8-6 record, their Pythagorean Expectation suggests their record
should be closer to 10-4.

3) Although the Knicks have an 8-6 record, but their Pythagorean Expectation suggest their record
should be closer to 10-4.

4) While the Knicks have an 8-6 record, their Pythagorean Expectation suggests their record
should have been closer to 10-4.

1) The Wasatch Range, which is a part of the Rocky Mountains, extends from southeast- ern
Idaho into northern Utah.

2) The Wasatch Range, a part of the Rocky Mountains that extends from southeast- ern Idaho into
northern Utah.

3) The Wasatch Range, is a part of the Rocky Mountains extends from southeast- ern Idaho into
northern Utah.

4) The Wasatch Range, a part of the Rocky Mountains, it extends from southeast- ern Idaho into
northern Utah.

1) The report clearly stated that significant improvement in productivity were observed the
following implementation of the newly software.
2) The report clearly stated that significant improvements in productivity had observed the new

software following the implementation of those.
3) The report clearly stated that significant improvement in productivity have been observed

following the implementation of the new software.
4) The report clearly stated that significant improvements in productivity were observed
following the implementation of the new software.



¥ aoi 521A sl = o2l (sl og,F

Part D : Language Functions

Directions: Read the following conversations between two people and choose the answer
choice (1), (2), (3), or (4) that best completes the blank. Then mark the correct choice on
your answer sheet.

A: Hey! How’s it going?
B: So far so good. How about you?

A: Can’t complain. But I’m really trying to .....ccccvevvvvnnnn (41) this project at work. It’s
like pulling teeth!
B: Tell me about it. Sometimes it feels like you'’re ......cccevvunnnnne (42) up the wrong tree!
A: I hear you. But you just have to .................... (43) and push through.
41- 1) stick the knife in 2) get wind of
3) get to the bottom of 4) take the mickey out of
42- 1) knocking 2) pummeling 3) holding 4) barking
43- 1) have an egg on your face 2) keep your nose to the grindstone
3) put the cat among the pigeons 4) fly off the handle
A: It’s great to see you so busy! Every time I pass by, the café is .................... (44) to
the rafters. It looks like you’re having a fantastic turnout.
B: Yes, it’s been incredible lately. We’re on a winning .......cccccvevneea (45) with new
customers and great reviews.
44- 1) ranked 2) packed 3) lodged 4) lapsed

45- 1) budget 2) discount 3) game 4) streak
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Part E : Close Test

Computer scientists have developed various ways to put together large programs consisting of

many specialist subprograms. The traditional .....................

(46) that controls the running

of most programs involves ..................... (47) a main program that runs through its
instructions step by step, retrieving from and storing data in memory, executing various
operations on such data, ..................... (48) allowed actions. Some of the instructions in

the main program might be to *call” a subprogram, handing control over to it. The
subprograms, in tum, can call other subprograms, and so on. After a subprogram
finishes. ..o (49), overall control returns to the program that called it, which
might then call another subprogram, and so on until control finally returns to the main program.

Eventually, the main program can finally quit running, having

..................... (50) all that

it was supposed to do, or it can continue running because, like a program that makes airline
reservations on demand for all who use it, its work is never done. This

scheme is the so-called von Neumann architecture.

In contrast with the von Neumann idea of executing instructions one after

another In sequence, ONE€ Can ..................... (51) of an

architecture in which many

instructions are executed simultaneously. A modern computer “operating system,” such as

UNIX, Windows, or Mac OS, is a very complex ...............

...... (52) of programs whose

organization must be very carefully designed. They exploit both actual parallel hardware and
time-shatifg, ...ivivaamainn (53) users can run their e-mail programs. Developers

underestimated the importance of seamless user experience

in next-generation operating

systems. To putitina(n) ......c.ccoevuenennn. (54), their failure to prioritize intuitive interfaces

hindered widespread adoption; otherwise, they ...................

users interact with technology.

.. (55) revolutionized the way

46- 1) background 2) disability 3) framework 4) reduction
47- 1) being had 2) to be had 3) to have 4) having
48- 1) and taking other 2) taking other

3) take another 4) and taking another
49- 1) to do what it has been called doing

2) having what it be called to do

3) doing what it has been called to do

4) having what do call to do
50- 1) cooperated 2) accomplished 3) delivered 4) acknowledge
51- 1) encourage 2) stimulate 3) conceive 4) conduct
52- 1) aggregation 2) repression 3) expulsion 4) successive
53-1) so that 2) inasmuch as 3) unless 4) as long as
54- 1) essence 2) nutshell 3) context 4) adom

55-1) had been 2) would be 3) will be

4) would have
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Part F : Reading Comprehension

Direction: In this part of the test, you will read three passages. Each passage is followed

by some questions. Answer the questions by choosing the best choice (1), (2), (3), or (4).
Then mark the correct choice on your answer sheet

Passage 1:

Rumi, a 13th-century Persian poet and mystic, remains one of the most celebrated literary
figures in the world. His poetry transcends boundaries of culture and religion, offering timeless
wisdom about love, spirituality, and the human experience. Central to Rumi’s philosophy is
the idea of unity — a profound connection between individuals, the divine, and the universe.
This unity is beautifully expressed through metaphors of the soul as a lover searching for its
beloved. Rumi’s works emphasize that the path to enlightenment lies in surrendering the ego
and embracing love in all its forms. His poetry has inspired countless readers, from scholars to
casual admirers, and his messages of peace and acceptance resonate as strongly today as they
did centuries ago.

Despite being deeply rooted in Sufi mysticism, Rumi’s poetry carries universal themes,
making it accessible to audiences far removed from its original context. His verses, often
written in Persian but translated into multiple languages, reveal an unparalleled depth of
emotion and insight. The imagery of swirling dervishes in ecstatic dance, a hallmark of Sufi
practice, reflects Rumi’s vision of divine love as a dynamic and transformative force. Through
his poetry, Rumi invites readers to embark upon an inward quest of self-realization,
encouraging them to seek the eternal within them.

56- What central theme is most prominently emphasized in Rumi’s philosophy?
1) Division between individuals 2) Unity and connection
3) Struggle for power 4) Detachment from love
57- According to the passage, what is the purpose of Rumi's use of metaphors such as "the
soul as a lover searching for its beloved"'?
1) To illustrate the futility of human relationships
2) To symbolize the soul’s connection with the divine
3) To describe Rumi’s personal experiences with love
4) To criticize materialistic values
58- Which of the following statements can best be inferred from the passage?
1) Rumi’s messages are relevant only to people familiar with Sufi mysticism.
2) Rumi’s poetry advocates for self-centered pursuits.
3) The imagery of swirling dervishes symbolizes divine love as a transformative force.
4) Rumi’s works have limited emotional depth and insight.
59- What is highlighted as a key reason for Rumi’s global appeal?

1) The simplicity of his writing 2) The universality of his themes

3) The lack of cultural or religious references 4) The exclusivity of his audience
60- How does the passage describe Rumi’s perspective on the ego?

1) As a tool for self-discovery 2) As a barrier to enlightenment

3) As an essential part of human identity 4) As a concept irrelevant to his
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Passage 2:

The idea of renewable energy has gained tremendous momentum in the last few decades as the
world is grappling to bridge the gap in controlling climate change. [1] As global temperatures
rise and climate-related disasters are on the rise, the urgency for a transition to renewable
energy is greater than ever before. Renewable power from the sun, wind, water, and earth offers
a clean source of energy in contrast to fossil fuels, which powered industrialization for decades
but at the cost of monumental destruction of the environment. [2] Renewable resources not
only reduce greenhouse gas emissions but also improve nations' energy independence by
lessening their reliance on finite resources. Transition to renewable energy is not, however,
without challenges. Sky-high upfront costs of infrastructure, technological limitations, and
volatility of energy production are still the formidable barriers to the broad use of CSP. [3]
Governments and the private sector worldwide are increasingly investing in research and
development to counteract these limitations.

Technological innovations in battery storage, for instance, are enabling better and safer
storage of renewable energy, aside from the intermittency challenge. Policy measures framed
in the language of subsidies and tax credits, as well, are triggering business and home uses of
renewable technologies. All these despite, disparities in access to renewable energy between
developed and developing nations persist largely due to economic and technologic differences.
Worldwide solidarity is what will fill in this gap so that democratic dividend from the
transformation of renewable energy reaches all points. [4] Transition towards renewable
energy is, in fact, not solely a question of technological change but a question of socio-
economic shift with globalization options for remolding world energy structures and curing
acute environmental illnesses.

61- The underlined word “volatility” in paragraph 1 is closest in meaning to
1) instability 2) incentive 3) emergence 4) dogma
62- According to paragraph 1, which of the following statements is NOT true about
renewable energy?
1) It helps in reducing greenhouse gas emissions, contributing positively to environmental
health.
2) It completely removes the dependence on finite resources without leaving any challenges
behind.
3) It provides a cleaner and more sustainable alternative compared to fossil fuels that harm the
environment.
4) It plays a significant role in addressing the challenges posed by climate change globally.
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63- The passage provides sufficient information to answer which of the following questions?
1) What are the specific financial figures required for the implementation of renewable energy
infrastructure?
2) What are the primary benefits and advantages of adopting renewable energy sources on a
global scale?
3) How do technological developments in developing nations contribute to global energy
innovation?
4) What are the major environmental disadvantages associated with using fossil fuels in
industrialization?
64-In which position marked by [1], [2], [3], and [4], can the following sentence best be
inserted in the passage?
“This emphasizes the importance of collaboration and shared responsibility to achieve
global energy goals.”
1) [4] 2) [1] 3) [3] 4) [2]
65- Which of the following statements can best be inferred from the passage?
1) Technological advancements are important, but policy support is also needed to address
renewable energy challenges.
2) Economic disparities between nations remain a barrier to equal access to renewable energy
globally.
3) Governments play a crucial role by introducing supportive measures like subsidies and tax
credits for renewable energy.
4) Transitioning to renewable energy involves both technological changes and broader socio-
economic adjustments.
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Passage 3:

Film, since its inception, has danced in the shadows of wild political change. With early
examples like the “conflict” implicit in Soviet montage theory of the 1920s and Benito
Mussolini’s Cinecitta Film Studio (est. 1937), whose motto was “Film Is the Most Powerful
Weapon,” the history of world cinema is also a history of violence. Third Cinema, an aesthetic
movement that emerged alongside the Latin American liberation struggles of the 1960s and
1970s, redirected this history of violence to the service of anti-imperialism, in which film was
no longer just an apparatus for propaganda but also an agent of resistance and opposition.

That theories of Third Cinema “undergird” Iranian cinema is significant insofar as it
suggests the extent to which the political and aesthetic revolutions that we witness in the
Islamic Republic are wrapped up in larger global trends, in the anti- and postcolonial struggles
of the so-called Third World. As much as cinema within the Islamic Republic is a national
cinema, determined by unique policies, industrial structures, discourses, and filmic grammar,
it is also representative of the reform cinemas that have transformed film industries around the
world. Reform Cinema in Iran thereby attends to the particularities of Iranian cinema in order
to posit a reform cinema as theological aftereffect of revolutionary cinema globally.

In our effort to acknowledge revolutionary cinema’s transformation into a cinema of
reform, the year 1989 stands paramount both because it marked the start of reconstruction
efforts following the destruction of the Iran-Iraq War and because Ayatollah Khomeini died
on June 3, 1989. The end of the war and the death of the revolution’s charismatic leader
signaled a new period in the young republic’s history as society suddenly faced the challenge
of imagining the Islamic Republic outside of war and revolution. The urgency of war-time
politics meant that most Iranians had been forgiving of strict and often invasive laws, and
during the war they had acknowledged that the Islamic Republic’s need to consolidate its
power in order to fight a war momentarily superseded individuals’ private liberties.

66- All of the following terms are mentioned in the passage EXCEPT ..................... .
1) Soviet montage theory 2) Cinecitta Film Studio
3) Postcolonial struggles 4) Third World Cinema

67- Which of the following is the best title for the passage?
1) The Role of Cinema in Global Politics: Analyzing Its Influence from Propaganda to Reform.
2) Revolutionary and Reform Cinema: Examining the Transition from Conflict to
Reconstruction.
3) The Transformation of Iranian Cinema: A Historical and Global Perspective.
4) The Impact of the Iran-Iraq War on Film: A Cultural Response to Political Change.
68- According to the passage, which of the following statements is true?
1) Third Cinema emerged during liberation struggles in Latin America in the 1960s and 1970s,
not the Soviet montage era.
2) Reform Cinema in Iran evolved from Revolutionary Cinema, addressing reconstruction after
the war.
3) Iranian cinema operates independently of global cinematic movements and focuses solely
on national policies.
4) Ayatollah Khomeini's death had no impact on cultural or cinematic transformations in Iran.
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69- Which of the following statements can best be inferred based on the passage?
1) Iranian cinema strictly follows national policies without external influence.
2) Revolutionary Cinema globally transitioned into Reform Cinema after wars.
3) The Iran-Iraq War had minimal effect on cultural production in Iran.
4) The motto of Cinecitta Film Studio reflects anti-imperial ideologies.
70- Which of the following words best describes the tone of the author in the passage?
1) Analytical 2) Persuasive 3) Critical 4) Inspirational



